@HN@ER

CANTERBURY, CHELSEA, EMPIRE, METRO, SYNCHRO GRAB BARS

PARTS LIST
ITEM PART NAME PART NO.

| [MOUNTING FLANGE 1995 *

2 [NO 10 X 2-1/2" TAP SCREW _ [10-2.5PFS

3 M5 X5 SET SCREW SM&-58

4 | 2-1/2 MM HEX KEY M2.5HK

5 [O-RING 1995R

6 | CANTERBURY DECORATIVE  [I572 *

RING
7| CHELSEA DECORATIVE RING _[II72 *
8 [EMPIRE DECORATIVE RING  [672 *
9 [METRO DECORATIVE RING {0872 *
10 [SYNCHRO DECORATIVE RING 1972 *

Il |l2" TUBE 5080 *
12_[16" TUBE 5081 *
15 [18" TUBE 5082 *
I | 24" TUBE 5083 *
15 [32" TUBE 5084 *
16 |36" TUBE 5085 *
[7_[RIGHT HAND "L" TUBE ASS'Y [5088R *
18 | CENTER POST o08CP *
19 M8 LOCKWASHER WMBSKA
20 [M8 X 25 CAP SCREW M8-25KS
2 [42" TUBE ASSEMBLY 5086 *
22 [4L8" TUBE ASSEMBLY 5087 *

25 |LEFT HAND "L' TUBE ASS'Y |5088L *
24 | CORNER TUBE ASSEMBLY 5089 *

TUBE ASSEMBLY INCLUDES:

** NOT AVAILABLE FOR CANTERBURY

|

| *

| (1) TUBE REQUIRES FINISH CODE

i (1) CENTER POST CANTERBURY - CHELSEA FINISHES:
(1) M8 LOCKWASHER -3 POLISHED BRASS

! (1) M8 x 25 CAP SCREW -|0B OIL-RUBBED BRONZE**

| -14 POLISHED NICKEL

! ASSEMBLED CONFIGURATION C'BURY PART NO.  CHELSEA PART NO. EMPIRE PART NO. METRO PART NO.  SYNCHRO PART NO. -15 SATIN NICKEL

! 12" GRAB BAR 1560 1160 660 0860 1960 -15A ANTIQUE NICKEL

| 16" GRAB BAR 1561 6l 66l 086! 196l -26 POLISHED CHROME

i 18" GRAB BAR 1562 1162 662 0862 1962 P\D**

24" GRAB BAR 1563 1163 663 0863 1963

m 32" GRAB BAR 1564 1164 664 0864 1964 EMPIRE FINISHES:

. 36" GRAB BAR 1565 1165 665 0865 1965 -3 POLISHED BRASS

| 42" GRAB BAR 1566 1166 666 0866 1966 -10B OIL-RUBBED BRONZE

! 48" GRAB BAR 1567 1167 667 0867 1967 |

! 'L" GRAB BAR, LEFT-HAND ANGLE  I568L llL 666L 0868L 1968L ”flg %ﬂ?ﬂf lﬁ“ﬁchEKLE ;

| ‘L" GRAB BAR, RIGHT-HAND ANGLE  [568R 1168R 668R 0868R 1968R -26 POLISHED CHROME

i CORNER GRAB BAR 1569 1169 669 0869 1969

| METRO FINISHES:

i -3 POLISHED BRASS

! -15 SATIN NICKEL

! -26 POLISHED CHROME

! SYNCHRO FINISHES:

| -3 POLISHED BRASS

i -26 POLISHED CHROME

|

|

|

|

|

|

GRAB BAR 2-04




